Efficiency vs P,

~ 0.2
o
£0.18F
> -
20.16F
9 L
(&)
20.14
[J]
0.12
0.1
0.08
0.06
0.04
0.02

o]
A\

Ratio

J

3

=

=
o
iN

— —original_step. ar-phasel-newgeom

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
—+— DOM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test

= 0.2
F
R SRS SIS S
g E : : : : :
‘90.16_—
o E
£0.14F
()
0.12F-
0.1F
0.08
0.06
0.04
0.02

Ratio

N w
T I 1T T

|
W

Efficiency vs ¢

o0.05¢

%) F:

§.0455 """"""""""""""""""""""""""""""

o E

T Rt SRR SN

o ]

§D.035 -4+ - eee- bbb

9] =

0.03F -t e froeeeei s

0.025F -

0.02F 71t

0.015

0.01:+

0.005f: [+
il , bl

o OF : : :

s F Lk

04 - --:--- --:—---<— .1r o B
e -



	Contents
	Page 1


